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14 15| 14 15
4 RS RERPHE PR 30 4R 24 25| 24 5
3% 25| 84 5
14 23| 14 8
5 EBNTHE 31 5A 24 23| 2% 8
34 23| 34 8
14 15| 14 15
6 ERNLHE e i 30 68 2% 15| 2% 15
34 34
14 25 14 6
7 EBRNTHE 31 7R 24 25| 24 6
3% 34
14 26| 14 5
8 ERATIRE LEBHE 31 8A 24 26| 2% 5
34 34
14 26| 14 5
9 EENTHE HiEHFFR 30 9A 24 26| 2% 5
3% 34
14 20 14 11
10 ERATIRE 31 10R 2% 20| 2% 1
34 34
14 16| 14 14
11 EENTHE *ﬁk 30 118 24 16| 24 14
3% 34
14 25| 14 6
12 ERNTHE %gf 31 125 26 25| 2% 6
3% 34
14 26| 14 5
1 ES o 3 REFA 31 18 24 26| 24 5
3 34
14 13| 1% 16
2 ERATRE 28 2R 24 13| 2% 16
3% 34
14 26| 14 5
3 REBHTEE 31 3R 24 26| 2% 5
3 34




